

R M M

ROMANIAN MATHEMATICAL MAGAZINE
www.ssmrmh.ro



If $a, b, c > 0$ and $a^3 + b^3 + c^3 = 1, \lambda \geq 0$ then:

$$\frac{a^4}{b + \lambda c} + \frac{b^4}{c + \lambda a} + \frac{c^4}{a + \lambda b} \geq \frac{1}{\lambda + 1}$$

Proposed by Marin Chirciu-Romania

Solution 1 by George Florin Şerban-Romania, Solution 2 by Ruxandra Daniela Tonilă-Romania

Solution 1 by George Florin Şerban-Romania

$$a^3 + b^3 + b^3 \geq 3\sqrt[3]{a^3 b^3 b^3} = 3ab^2; \text{ (by AM - GM)}$$

$$b^3 + c^3 + c^3 \geq 3\sqrt[3]{b^3 c^3 c^3} = 3bc^2$$

$$c^3 + a^3 + a^3 \geq 3\sqrt[3]{c^3 a^3 a^3} = 3ca^2$$

$$3 \sum_{cyc} a^3 \geq 3(ab^2 + bc^2 + ca^2) \Rightarrow \sum_{cyc} a^3 \geq ab^2 + bc^2 + ca^2$$

$$a^3 + c^3 + c^3 \geq 3\sqrt[3]{a^3 c^3 c^3} = 3ac^2; \text{ (by AM - GM)}$$

$$b^3 + a^3 + a^3 \geq 3\sqrt[3]{a^3 b^3 b^3} = 3ba^2$$

$$c^3 + b^3 + b^3 \geq 3\sqrt[3]{c^3 b^3 b^3} = 3cb^2 \Rightarrow 3 \sum_{cyc} a^3 \geq 3(ac^2 + a^2b + b^2c)$$

R M M

ROMANIAN MATHEMATICAL MAGAZINE

www.ssmrmh.ro

$$\sum_{cyc} a^3 \geq ac^2 + cb^2 + ba^2 \Rightarrow \sum_{cyc} \frac{a^4}{b + \lambda c} = \sum_{cyc} \frac{a^6}{a^2 b + \lambda a^2 c} = \sum_{cyc} \frac{(a^3)^2}{a^2 b + \lambda a^2 c} \geq$$

$$\stackrel{\text{Bergstrom}}{\geq} \frac{(a^3 + b^3 + c^3)^2}{(a^2 b + b^2 c + c^2 a) + \lambda(a^2 c + b^2 a + c^2 b)} \geq \frac{1}{\sum a^3 + \lambda \sum a^3} = \frac{1}{1 + \lambda}$$

Therefore,

$$\frac{a^4}{b + \lambda c} + \frac{b^4}{c + \lambda a} + \frac{c^4}{a + \lambda b} \geq \frac{1}{\lambda + 1}$$

Solution 2 by Ruxandra Daniela Tonilă-Romania

$$\frac{a^4}{b + \lambda c} + \frac{b^4}{c + \lambda a} + \frac{c^4}{a + \lambda b} = \frac{\frac{a^4}{b + \lambda c} + \frac{b^4}{c + \lambda a} + \frac{c^4}{a + \lambda b}}{1} =$$

$$= \frac{\frac{a^4}{b + \lambda c} + \frac{b^4}{c + \lambda a} + \frac{c^4}{a + \lambda b}}{a^3 + b^3 + c^3} = \frac{a^3 \frac{a}{b + \lambda c} + b^3 \frac{b}{c + \lambda a} + c^3 \frac{c}{a + \lambda b}}{a^3 + b^3 + c^3} \stackrel{AM-GM}{\geq}$$

$$\geq \frac{a^3 \left(\frac{b + \lambda c}{a}\right) + b^3 \left(\frac{c + \lambda a}{b}\right) + c^3 \left(\frac{a + \lambda b}{c}\right)}{a^3 + b^3 + c^3} \Leftrightarrow$$

$$\frac{\frac{a^4}{b + \lambda c} + \frac{b^4}{c + \lambda a} + \frac{c^4}{a + \lambda b}}{\frac{a^4}{a^4} + \frac{b^4}{b^4} + \frac{c^4}{c^4}} \geq \frac{1}{a^2(b + \lambda c) + b^2(c + \lambda a) + c^2(a + \lambda b)} \Leftrightarrow$$

$$\frac{a^4}{b + \lambda c} + \frac{b^4}{c + \lambda a} + \frac{c^4}{a + \lambda b} \geq \frac{1}{(a^2 b + b^2 c + c^2 a) + \lambda(a^2 c + b^2 a + c^2 b)}; (1)$$

$$a^3 + b^3 + c^3 \geq a^2 b + b^2 c + c^2 a \Rightarrow 1 \geq a^2 b + b^2 c + c^2 a; (2)$$

$$a^3 + b^3 + c^3 \geq b^2 a + bc^2 + a^2 c \Rightarrow 1 \geq ab^2 + bc^2 + ca^2 \cdot \lambda \Rightarrow$$

$$\lambda \geq (ab^2 + bc^2 + ca^2)\lambda; (3)$$

From (1),(2),(3) it follows that:

$$\frac{1}{(a^2 b + b^2 c + c^2 a) + \lambda(a^2 c + b^2 a + c^2 b)} \leq \frac{1}{\lambda + 1}; (4)$$

From (1),(4) we get:

$$\frac{a^4}{b + \lambda c} + \frac{b^4}{c + \lambda a} + \frac{c^4}{a + \lambda b} \geq \frac{1}{a^2(b + \lambda c) + b^2(c + \lambda a) + c^2(a + \lambda b)} \geq \frac{1}{\lambda + 1}$$

Therefore,

$$\frac{a^4}{b + \lambda c} + \frac{b^4}{c + \lambda a} + \frac{c^4}{a + \lambda b} \geq \frac{1}{\lambda + 1}$$

Note by editor:

Many thanks to Florică Anastase-Romania for typed solutions.